2013. 2% Btz Yoz

2| AFRL

A | A=t = A = o | AN | U« H|3
g A
1/2013-02-04 {20134 AILA Ale|g| So}xi| -2tk 7Hets) 135,400 | 7IE 5%
2(2013-02-05 (201314 JEAIE 21445 HE M| (Fetatdal) | 144,000 tE 74
3[2013-02-05 (2012 Z&fof| & BWALI} 221 7tets| 742 177,000 | JIE 6%
4{2013-02-05 (201317 %223k QEFYH| A 221 2194H2{ | 56,000 | 7= 54
5[2013-02-05 [M'hH Eof A} grgufot HE 7Hetg) 134,000 | JIE 6%
6]2013-02-06 |A|H2F SEE AT AEAM 7R3 100,000 7IE 3%
7|2013-02-06 | 22|21 2l8| 2t FH| 29 HH 13,800 | 7LE 2%
8[2013-02-07 (M-S E A7t FHQFALGF 7HetE| 71z 86,000 | 7IE 54
9(2013-02-08 [F2t, &7 | HFAIE 71 7HEl 120,000 | 7= 6%
10/2013-02-08 20134 .5 Uzja| chalf 221 7Hets) 91,500 | 7= oy
11]2013-02-12 |2013d 29| HEIUA 72 219,000 | 7tE 74
12(2013-02-13 |OtSoll &% 2k A ART/F 93¢ 221 7Htg] 78,000 | FIE oy
13(2013-02-14 | M2 23213 29 Ust HE 7H5hs| 56,000 | 7IE 7%
14(2013-02-14 | Z&tof| £ 2185 7H 71 7+EHs 221,100 | 7t 74
2013-02-16 | Z 2 AtH| 2|-2(000) 50,000 | @ 1%
15(2013-02-18 | 2222 AT A2 7HEs 99,000 [ 7tE 3%
16(2013-02-19 | M AR w Fodth 2 Gt 7Hets 85,000 | JIE 6
17]2013-02-19 |2aicirt 2294 B2 U g8 OfAE|ZaHG S7h8 08| 7iete| | 59,000 JLE 63
18(2013-02-19 | Z 2 AtH| 2|-2(000) 50,000 | @ 1%
19(2013-02-19 | Z 2 At 2|-2(000) 50,000 | @2 1%
20|2013-02-20 (201317 E- & of|xk2-%d T AR} 7HetE| 212,000 | 7= 8
21(2013-02-21 [nlzigAts 2 oigis) Ai28| A=), Areatelele| Zhatel Azl | 162,000 | 7HE 129
22|2013-02-21 |#|2458| A|2|g| ZH| 2] Hzq 35,000 | 7IE 4
23(2013-02-21 [Z&hY |2 2 84 U&7 Mol chaktoil] 272,000 7tE
24|2013-02-21 {20304 2-&3H #|2x} Hx|3]o| 7Hets| 72| 79,000 | JtE 7%
25(2013-02-22 |M|2458| A|e|g| 5 H D ZHE 7Hchg] 69,000 | FtE 74
26(2013-02-22 |74 2 AHH| 2|2(000) 50,000 | @ 1%
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